25

5. Copy the numbers that are not prime. 7 20 0 18 21 16 49 51 27
———————————————————————————————————————— Day 26 Below -------—--—--ooommm
1. 3 2 2. Subtract: 3. 6.23 4. 1 3
Add 6+E: Z §_ % 1.2 §+Z:
77
26
5. If two triangles have the same area, what else is true?
A. Their perimeters are equal. B. They are congruent.
C. They are similar. D. We can’t know any of these thing.
———————————————————————————————————————————— Day 27 Below ----—--——-————— oo
1. | Find the sum: 2. Take away: 3. 2.4 x3.5= 4. 1 1
5 4 21 20 2737
16 16 4343
27
5. Round 7862 to the nearest ten-thousand.
—————————————————————————————————— Day 28 Below -------—--——-——oommmmo
1. 1 1 2. 7 6 3 8.32 4 3 4
2727 8 8 « 87 475"
28
S. Write 603,028,005 with words.
————————————————————————————————————— Day 29 Below -------—--——-——ommmmoo
1. 3 2. 13 3. 2.96 4. 1 2
8 16 x 83 2 3
5 7
i 16
29
5. What is the ratio of girls to boys in the room right now? (The teacher does not count.)
—————————————————————————————————————— Day 30 Below -----------———oomommm
1. Add: 11 9 2. | Subtract: 3. 529 4. 2 9
© 207 20" 9 9 x_706 5716
8 8
30
5. A deposit on ordered merchandise is like an advance payment. If you leave a deposit of
$90, how much do you owe on a $159.92 sound system?
———————————————————————————————————— Day 31 Below -------—-———————omomo
1. 1.5 2. 3 3. 5 2 4. 6) 365
2.6 " 7%3°
+4.3 2
i
31

| 5. Average these: 300 400 550 475 380




———————————————————————————————————————— Day 32 Below ----—--——-—————o oo

1. 1] 2 86| 3. 1 4 7)861
o5 .79 3
1 2
+ g Xg
32

5. Three CD’s on sale cost $8.98, 8.49, and 7.39 . Will a ten-dollar bill and three five’s be
enough to pay for the total?

——————————————————————————————————— Day 33 Below —-----------ommomo o
1. | Find the .02 2. . 7 5 3. 2 1 4.
sum: 01 Find:  o-g= 975" Y624
+ .03
33
5. Ifit takes 7 hours for you to travel 316 miles, how far do you go?
——————————————————————————————————————————— Day 34 Below ----—--——-——-——o oo
1. 9§ 2.| 3.72-1.95= 3. §X£: 4 5) 7465
8 4 2
+4 .
34
5. Round 369,920 to the nearest thousand.
————————————————————————————————————————— Day 35 Below —------—-—-oommm oo
1. Find the sum 2. 3 3. 156 4. 6) 67656
of 7.49 and 3.5 27 x 849
1
27
35
5. Find the perimeter and area of a rectangle with length 3 and width 10.
—————————————————————————————————————— Day 36 Below ----—--—--————ooo oo
1. 4 2. Subtract: 3. 460 4. 1 3
103 6.531 x 4.8 474
- 5.975
+ 9-—
36
5. Which equals 1? 2+ 2 1+1+1 60.2 + 60.2 5§—§
3 3 3 4 4
-------------------------------------- Day 37 Below -------—--—— oo
1. 2.86 | 2.| Find difference: 3. 840 4.
7. T4 x .625 2) 1346
+.12 8 8
37
5 34 =




1. 1 2 2. Subtract: 3. .007 4. 3 5
4413, 8.00 - 1.742 = x_.002 878"
38
| 5. What is the missing number? 9, 18,27, ? , 45, 54
—————————————————————————————————————— Day 39 Below -------—---—moomm
1. | Add: 8 + .05 = 2. Find: 1_3_i= 3. 4.97 4. 6).228
13 13 x_ 32
39
5. Find the perimeter and area of a rectangle with width 5 and length 4.
———————————————————————————————————— Day 40 Below -------—-—-——————- oo
1. 3 2. Subtract: 3. 2500 4. 2 4
16 7.9 -.735 x_437 375"
+7
40
5. Round off to the nearest hundred: 47,491 .
——————————————————————————————————————— Day 41 Below —------—-—-—oommoo oo
1. Find 371 | 2.| Find 5631 | 3.| Find 8613 | 4. 241 + 8 =
the sum +123 difference 2017 product x_ 747
41
5. Write the missing number: 3,7, , 15, 19, 23
——————————————————————————————————— Day 42 Below —------—---——m oo
1. 2439 2. 6003 3. 605 4. 876 + 20 =
157 — 1897 x 20
+ 6848
42
5. Complete this factor tree: o« 2
7
A/ \
——————————————————————————————————— Day 43 Below ----—--——-———— oo
1. 4+ (3+8)= 2.1 2000 - 1217 = 3. 2040 4. | Divide 879 by 26
x 93 .
43
5. Complete: 2.6 x = .607 x 2.5
———————————————————————————————————— Day 44 Below —------—-—-—— oo
1. 76 2. 5906 | 3. 562 4. | Dividend: 644
599 - 2419 x 663 Divisor: 23
208 Quotient?
+ 91
44

5. There are 100 cm in 1 meter. How many cm are there in 6 meters?

---------------------------------- Day 45 Below —------—---—oomm oo




1.| 345+56+| 2. 8000 | 3. 745 | 4. g8)6539 | ©. Mark the point

32 + 1361 — 2999 x 868 (0,0) with a dot. e
45
—————————————————————————————————— Day 46 Below ----—--——-——————— oo
1 Sum two-eighths | 2. | Find the 90853 | 3. | Find the product 4. Divide 241
and three-eights difference 32265 5 7 by 37 .
of - and —
2 2
46
5. 6%=
—————————————————————————————— Day 47 Below ----—--——--— -
1. 7 3 2. 1 3. 7 9 4. 3 5
Sumgand9 102 10510° 14'8_
15
6
47
5. Draw the segment that shows the height
or altitude of this triangle:
—————————————————————————— Day 48 Below —------—---——cmmmmmommo
1. 1 3 2. 1 3. Find the 4. | Divide to find the
Sum 12 and 8 25 product of quotient:
2 bx L _ LI
-1z 12 37
48 I I I
5. Complete the exponent boxes: 8053 = 8 x 10 L+ 5x 10~ +3x 10
————————————————————————————————————— Day 49 Below -------—-———- oo
1. 2 5 2. 7 3. | Multiply 49.72 4. Divide: 5407 +
Sum 27 and 6 515 and 035 . 32
4 3
4
49
5. Round 67412 to the nearest hundred.
------------------------------------- Day 50 Below -------—-- oo
1. 1 3 2. 3 3. Find product 4. Divide 2804 by
Sum 5 and 2 s of 3000 and 07 .
1 .0009
_ 4=
6

5. A rectangle with area 273 has length 70. Find the width, and then the perimeter.

50




